QiD:1-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

AT uw & foT ow feut @ wy o
(?) & TUE W A el T=m w gEm|

2 4 7
3 5 9
7 6 2
35|54 | 7
Options:
1)34
2) 36
3)38
4)32

Correct Answer: 32
Candidate Answer: 32

QID:2-
How many triangles are there in the given figure?

& i st 3 freet P 2
V4

Options:

1)9

2)4

3)6

4)8

Correct Answer: 8
Candidate Answer: 8




QiD:3-

A waoard is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in ihe alternalives are
represented by two classes of alphabels as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘J’ can
be represented by 42, 87, etc., and ‘N’ can be represented by 04, 89, etc.
Similarly, you have to identify the set for the word “BITE”.

TF QRG dae U TET-Oep gRT g v ¥, Sar iy fawedt & @
ot we # Rear R Aweut d By o dwar-wds HaRl & o aeit
T goif aw ¥ Shar & Bu ow @ ameyggt #F ¥ eyl o v s
Ufth O TE 0 ¥ 4 § 3R INRN A 5 T 9] 39 I | TH W
@ Ugel IEH Uh AN a5 A TAEN GEAT gRT AT o Wear §
BEIAUT & foT Ol 42, 87, 3T SR g7 S W4T & aur N’ @l 04,
89, 3G TR G S ThaT ¥ I We T WU uH A QU W
“BITE” & fow Wofp @ ugaEar

Matrix-1 Matrix-ll

g1 el
012134 5|6|7|8(9
O|B|E|T|A|N S5|D|GIWII|R
1IK|IM|I|C|S 6|Y|M|B|T|S
2|U|E|Q|V | X 7|L|P|1Z|Y|D
J|IDIGIW|L|R 8|F|E|J|T|N
4|K|B|J|C|S 9|uU|1|Q|V|X

Options:

1) 00,12, 88, 21
2) 41,40,02,04
3) 67,96,12, 86
4) 23, 58, 68, 01

Correct Answer: 00, 12, 88, 21
Candidate Answer: 00, 12, 88, 21

QiD:4-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& T SN IPIaA A B 3@ 5 A H gAT
orm & uy el BT B




Options:
1)

2)

4

P

Correct Answer:

()]

Candidate Answer:

(0]

QID:5-

Which answer figure will complete the pattern in the
question figure?

HiT O 3T ABla T i & widsT & gu

Eﬁiﬂ ?
5 | »
L]
o] o
AA AL




Options:

1)

A A

2)

4

Correct Answer:

vy

Candidate Answer:

vy

QID:6-

If 2 mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg T gUUT @ AB YT UT T@T AW, & & TS
Tal Hpadl # @ Hid W Hpla Uy g 6

el ufafesa gz
AE
B




Options:

1)

2)

4

SERESIE

Correct Answer:

N

Candidate Answer:

~d

QD:7-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

d=r T oum amgfadl # fmw gER Fee @
s D qUT Tekl & a1g 98 fohE 3 Hofa
s fearg &eme

;‘_\ ﬁ
. ‘_:_-.




Options:

1)

<
< OO'

2)

oo

4

o o

=]

Correct Answer:

<
<>O<>

Candidate Answer:

<
< o<>

QID : 8 - If ' means '+, 'Q' means '+, 'N' means '=' and 'T' means ', then
44T4L11Q6="?
Tl L' a1 aref '+, 'Q" a1 aref #, "N T ek = G 'T" @t oref X' g,

44T4L11Q6="?
Options:

1)17

2)14

3) 88/17

4)22

Correct Answer: 22
Candidate Answer: 22

QID:9-If6x4x1=33and4x2x2=24,then2x3x1="?

A 6x4x1=33qUT4x2x2=24g,d2x3x1="?

Options:

1)18

2) 22

3)20

42

Correct Answer: 18
Candidate Answer: 18

QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Storm
2. String
3. Stock
4. Stream
5. Store

frfefaa <l @l areaentsr & o1 aTet oA & SrgER fad]

1. Storm
2. String
3. Stock
4. Stream
5. Store




Options:
1) 35142
2) 53142
3) 51342
4) 31542

Correct Answer: 35142
Candidate Answer: 35142

QID : 11 - In the following question, select the missing number from the given series.
9,11,15,21,?
frefafaa v J Ry g faeedt & & g sie 3 Q)

9,11,15,21,?
Options:

1) 28

2) 29

3)27

4) 30

Correct Answer: 29
Candidate Answer: 29

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
X,V,TR?7?
T iR o T €, o 9 U ue g 81w g et F © a5 el foehew gfg, St orgsh R g Rl

X,V,TR??

Options:

1HPM

2)PN

3)Q,0

4)Q,P

Correct Answer: P, N
Candidate Answer: P N

QID : 13 - In the following question, select the odd word from the given alternatives.

ot vy A g 7y faed # 9 v <reg &t gl
Options:

1) Tongue

Sitay

2) Ear
bl

3) Nose
AT

4) Sweet
HiaT
Correct Answer: Sweet

Candidate Answer: Sweet

QID : 14 - In the following question, select the odd number pair from the given alternatives.

Frfeiaa wer A fig g faeedt & 9 fawm dwan g &t ghg)
Options:

1) 64 - 512

2)16 - 64

3)9-27

4) 81 - 243

Correct Answer: 81 — 243

Candidate Answer: 81 — 243

QID : 15 - In the following question, select the odd letters from the given alternatives.

frfefa ver & R g femedt # 9 fawm srarf &6t g

Options:

1) AC

2) DF

3) MO

4) XY

Correct Answer: XY
Candidate Answer: XY

QID : 16 - Identify the diagram that best represents the relationship among the given classes.
Word, Letter, Paragraph

I8 R Y St A Ry 1y it & ey 3 ey 1 TE Fegor R 21
AT, HER, IHTDE




Options:

1)

2

c

w

IS

& 8

Correct Answer:

Candidate Answer:

QID : 17 - In the following question, select the related word from the given alternatives.
Wool : Sheep:: Silk:?
frfafa we & fig Mo feredt & § wefda eree ot gl

ST 98 RW:?

Options:
1) Plant
gren

2) Tree
CE

3) Worm
EaS]

4) Animal
SIFaR
Correct Answer: Worm

Candidate Answer: Worm

QID : 18 - In the following question, select the related number from the given alternatives.
9:729::117?
Frafafea us A Ry 7y foedt 7 9 Hefda 9w & gl

9:729::117?
Options:

1)121

2) 1331

3) 1221

4) 1100

Correct Answer: 1331

Candidate Answer: 1331




QID : 19 - In the following question, select the related letters from the given alternatives.
AB:YZ::BC:?
ot v 7 fag 7y faeeat & @ Faifda et o g

AB:YZ::BC:?
Options:

1) YX

2) Xz

3) XwW

4) XY

Correct Answer: XY
Candidate Answer: XY

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.
STRATEGIC
frafafa et & @ ag e gAY St iy g 2reg & 1Rl a1 TRINT ek g ST S Hehd|

STRATEGIC

Options:

1) RAT

2) GREAT

3) CRANE

4) STAR

Correct Answer: CRANE

Candidate Answer: CRANE

QID : 21 - Shyam starts walking from a point. He walks 10 km to the north. He then turns east and walks 12 km. He then turns south and walks 8 km. He then turns
west and walks 16 km. In which direction is Shyam from his starting point?

2T Gk fiig & T 3T et 1 7 10 R, ITR Y oik Ferar 81 R a8 ud it Sik oo 12 R aeran &1 fofr ag aféor &t of gga 8 .+, etar 81 fOR g8 uffw & efik
o 16 b=t Terar &1 2am se sRfSes feig @ fopa R & &7

Options:
1) West
argH

2) North

IR

3) North-West
ITR-ufgw

4) South-West
gfaor-ufgm

Correct Answer: North-West
JR

Candidate Answer: North-West
IR-ufda

QID : 22 - Present ages of A and B are in the ratio 3 : 4 respectively. After nine years this ratio becomes 4 : 5. What is the present age (in years) of A?

A g1 B Y Gl SR ShART: 3 : 4 & Sigurd H g1 At adf Ui I8 Sigurd 4 ¢ 5 8 ST 21 A & adA oy (awt §) o 82

Options:
1)18

Correct Answer: 27
Candidate Answer: 27

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be at
variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. Some blue are black.
IIl. Some black are red.

Conclusions:
I. No red is black.
IIl. Some black are blue.

12 Ry g ver & 355 e ok I 918 39 Sl WR SenRa e freend g g &, grifes S s T aet § e 8wt 81 9aff e o ofk i Praffa R i Ry g @l
9 fAsre, i g sl & STUR R gRegTa €1

hY-:
|. 3 it B &
Il. T& et A §1

freepd:
|. IS STl Rl & 21
II. & & HIA &1




Options:
1) Only conclusion (1) follows.

famemf (1) Wt 81
2) Only conclusion (11) follows.
Faet e (1) a8 2
3) Both conclusion follow.

i &1 feee Tt €1

4) Neither conclusion (1) nor conclusion (11) follows.
T a P (1) 7 & Freenef (1) T 1
Correct Answer: Only conclusion (Il) follows.

haet Frend (1) Tgt 81

Candidate Answer: Only conclusion (lI) follows.

thaet fsend (11) TEt &)

QID : 24 - In a certain code language, "FOUR" is written as "GPVS". How is "NAND" written in that code language?

T fAfrE Fie wTeT , "FOUR” @i "GPV'S" foraT iTaT &1 39 e T # "NAND" @i fhe TR forar sirgmm?

Options:
1) OBOC
2) OBME
3) MBOE
4) OBOE

Correct Answer: OBOE
Candidate Answer: OBOE

QID : 25 - In a certain code language, "TEA" is written as "26" and "PEA" is written as "22". How is "TWO" written in that code language?

e fAfE el arem &, "TEA" &t "26" T "PEA" &l "22" forRaT STTaT &1 59 his 9TeT J "TWO" &t fhg UehR forar smemm?

Options:

1) 57

2) 56

3) 58

4) 59

Correct Answer: 58
Candidate Answer: 58

QID : 26 - What is the value of 32 + 42 + ... 162?

32+42+ 162 A AT E?
Options:
1)1373
2) 1261
3) 1491

4) 1563
Correct Answer: 1491
Candidate Answer: 1491

QID : 27 - What is the value of [(7.8)3 + (3.4)3] = [(7.8)2 - 7.8 x 3.4 + (3.4)4]?

[(7.8)3 + (3.4)% = [(7.8)2 = 7.8 x 3.4 + (3.4)2] HI AH T &?

Options:
1)10.9
2)11.2
3)134
4)9.8

Correct Answer: 11.2
Candidate Answer: 11.2

QID : 28 - What are the positive factors of 54?

54 % THIcHS UGS fohad 82

Options:
1)6

2)7
3)8

45
Correct Answer: 8
Candidate Answer: 8




QID : 29 - Which of the following statement(s) is/are true?

1. (5/9) > (7/11)

1. (6/7) > (8/9)
ffafea 7 @ a9/ su= g 8/87
1. (5/9) > (7/11)

IL. (6/7) > (8/9)

Options:

1) Only |

Faa |

2) Only Il

FHad |

3)Both land Il

| @ || g

4) Neither | nor Il

Fariagi

Correct Answer: Neither | nor Il
Fariagil

Candidate Answer: Neither | nor Il
Fariagi

QID : 30 - N is a number divisible by 17. If (N + 3)(N + 5) is divided by 17, then what will be the remainder?

N Te Ter st 17 9 RanfSa 81 af (N + 3)(N + 5) Y 17 | RenfSia fowar e &, @t iawher @ gim?

Options:
19

2)11
3)10
4)15

Correct Answer: 15
Candidate Answer: 15

QID : 31 - If a number is as much as greater than 53 as it is less than 95, then what is that number?

ek Gt 53 § et argt § Ia+1 81 95 T 81 &, ot ag T e 82
Options:

1) 21

2)76

3) 41

4)74
Correct Answer: 74
Candidate Answer: 74

QID : 32 - Pipe A can fill a tank in 5 hours and pipe B can fill the same tank in 6 hours. Pipe C can empty the same full tank in 3 hours. If all the pipes are opened
together, then what portion of the tank will be filled after 6 hours?

UTEY A Gk &3hi Y 5 62 | R ehdT & a7 UTsU B I4T 1 Y 6 62 | YR TehdT &1 39 ) §8 el I UTEY C, 3 € H Wrel! . FavdT &1 afs a+ft urdul &t U a1 @it fam &, ot 6 |
q1E ST ot foham fRar sk Sam?

Options:
1)2/9
2)1/5
3)1/3

4)2/3
Correct Answer: 1/5
Candidate Answer: 1/5

QID : 33 - Aman and Raman together can do a work in 40 days. Aman alone can do the work in 60 days. In how many days can Raman alone do the work?

STHT T T Gk el bl fierans 40 foet & or o et &1 STt SichetT 39 & ot 60 R & URT o et 81 70 Srdhent 39 ol Rt foert fott F gt apem?

Options:

1) 90

2) 120

3) 150

4) 105

Correct Answer: 120
Candidate Answer: 120

QID : 34 - The ratio of the angles of a triangle is 4 : 3 : 2. What is the measure of the largest angle (in degrees)?

TRt 31311 & iUl o STUTT 4 @ 3 : 2 § | TIQ &< 10T o A1 (7ft #) Fam €2




Options:
1)70

2) 80
3)75

4) 60
Correct Answer: 80
Candidate Answer: 80

QID : 35 - A shopkeeper allows two successive discounts of 35% and 15% on selling an article. If he gets Rs 221 for the article, then what is the marked price (in Rs)
of the article?
fonelt aeg T daI THT Yo gERMGR 1 SRR B, 35% AT 15%, 3T &1 AfS I8 59 a%g o 221 T U el 8, dl ag o Sifhd I (% H) 82

Options:
1) 400
2) 420
3) 380
4) 450

Correct Answer: 400
Candidate Answer: 400

QID : 36 - A trader gives a discount of 10% on the marked price. To earn profit of 62%, by how much percent should he mark the price of his goods higher than its cost
price?

T AU Sifchd Hed TR 10% I TE 3T 51 62% T A1 UTed R o folg S ST aegail T e, 270 Hed & fohaa faera sifdis siférd sveam anfgg?

Options:
1) 80

2) 50
3)60
4) 40

Correct Answer: 80
Candidate Answer: 80

QID : 37 - The ratio of two numbers is 9 : 2. If there difference is 91, then what is the smallest number?

&Y TSt 1 ST 9 : 2 &1 aft ST iR 91 B, at T Bidt Tee n &7
Options:

1117

2)13

3) 65

4) 26
Correct Answer: 26
Candidate Answer: 26

QID : 38 - Of three positive numbers, the ratio of first and second is 5 : 7, that of second and third is 7 : 9 and the product of first and third is 18000. What is the sum of
the three numbers?
A eFTeeh TS B gl qT gERY ol SIguTd 5 : 7, gEe) auT et 1 SR[UTd 7 : 9 & SR ugelt o st 1 urher 18000 &1 i iReasit o ai e 82

Options:
1) 450
2) 420
3) 360
4) 340

Correct Answer: 420
Candidate Answer: 420

QID : 39 - The average of N numbers is 20. If a number 4 is removed, then average becomes 22. What is the value of N?

N TRexraif &1 sitaa 20 g1 afe e e 4 &t gerar o, dt Sitad 22 g1 SIar g1 N &1 314 @1 g2

Options:
1)8

2)10
3)9

4911
Correct Answer: 9
Candidate Answer: 9

QID : 40 - By selling an article for Rs 352 there is a loss of 12%. What is the cost price (in Rs) of the article?

T a%g 1 352 % A R W 12% Y g1f gkl &1 avg o1 oha e (% ) R d?




Options:
1) 395

2) 450
3) 400

4) 475
Correct Answer: 400
Candidate Answer: 400

QID : 41 - A man sold 500 chairs and had a gain equal to selling price of 20 chairs. What is his profit percentage?

Teh Afth 500 AT HY Saere 20 HRFAT & g Goa & SRIER A1 HATAT & | IHHT AT AL FT 82
Options:

1125

2)8.33

3)4.16

4)10
Correct Answer: 4.16
Candidate Answer: 4.16

QID : 42 - Sum of two numbers is 140% of the larger number. If smaller number is 18, then what is the value of the larger number?

&1 Temmail ol al, ISt TxeT &t 140% 1 afe S8 T 18 §, af I Tk ol A g2
Options:

Correct Answer: 45
Candidate Answer: 45

QID : 43 - In a country 25% people are males. If the number of males is 6500, then what is the total population of the country?

Tk 3 F 25% T G0 &1 Al T &t FeAr 6500 §, A 421 Y et St a 8?7
Options:
1) 28000
2) 26000
3) 31000

4) 33000
Correct Answer: 26000
Candidate Answer: 26000

QID : 44 - The speed of a boat in still water is 25 km/hr. It covers a distance of 45 km upstream in 3 hours. What is the speed (in km/hr) of the stream?

<Tid STt | Qe 1@ i1 25 f6.#). /81 1 a5 91 & ufiget 45 fraft. Fr gt 3 9  qu it 81 awr oy oify (R #f./dier A) @ 82

Options:
1)8

2)10
3)12

4)15
Correct Answer: 10
Candidate Answer: 10

QID : 45 - Raman goes to a place at a speed of 9 km/hr and returns back at 18 km/hr. What is his average speed (in km/hr)?

T 9 foh. /68 Y i & Ueh W= R ST ¢ aur 18 6. A /6 i nifd & aru smar g1 39 offad ia (.. /der 8) | g2
Options:

1)15

2)12

3)14

4)16

Correct Answer: 12

Candidate Answer: 12

QID : 46 - The population of a state increases at the rate of 10% per annum. If the present population of state is 439230, then what was the population of state 4 years
ago?

10% et aTfifer &= & geh Twa i SReat # gfg gt 81 afs 3w i adam Seivear 439230 §, dt 4 axf uge ra i St & ofi?

Options:
1) 30000
2) 300000
3) 350000
4) 400000




Correct Answer: 300000
Candidate Answer: 300000

QID: 47 -
The table given below shows the number of cars
manufactured (in lacs) by company X from year 2009 to
2016.

& & o arferer # a¥ 2009 @ 2016 &6 wuAr X
TN Icurfed IMisat fr FEar (e #) @ g T
&l

Year/ | Number of cars manufactured (in lacs)/
a§ ScuTied mfgal fr g (arEr 7)
2009 200
2010 110
2011 180
2012 220
2013 300
2014 250
2015 320
2016 300

What is the percentage change in the number of cars manufactured from year 2013 to year 2014?

T 2013 ¥ a9 2014 deh ITEd ST Al T | Ufaera aRad-T a1 &2

Options:
1) 16.66

2)33.33
3) 83.33

4) 55.88
Correct Answer: 16.66
Candidate Answer: 16.66




QID : 48 -
The table given below shows the number of cars
manufactured (in lacs) by company X from year 2009 to
2016.

e & o Tt & 9§ 2009 ¥ 2016 & duel X
T Scurfad anisal A TEar (el A) dr R o=
gl

Year/ | Number of cars manufactured (in lacs) /
g ScUIfad anfedr & S&T (el #)
2009 200
2010 110
2011 180
2012 220
2013 300
2014 250
2015 320
2016 300

For how many years was the number of cars (in lacs) manufactured by company X more than 220 lacs?

foham ot o o =it X gRT Iaunfea mieal h T (aRdi ®) 220 g & ifdes o2
Options:

12

2)5

3)6

4)4

Correct Answer: 4

Candidate Answer: 4

QID: 49 -
The table given below shows the number of cars
manufactured (in lacs) by company X from year 2009 to
2018.

&rr & o drforeer # a¥ 2009 @ 2016 @6 @uAr X
T 3cuTicd Imisal o HEar (el #) @ grifam =
gl

Year/ | Number of cars manufactured (in lacs) /
T Scuriad @nfeal 6r @ear (arEn )
2009 200
2010 110
2011 180
2012 220
2013 300
2014 250
2015 320
2016 300

What was the difference (in lacs) between number of cars manufactured by company X in year 2012 and year 2015?

T 2012 gur af 2015 F st X gRT It mieat &t e a1 siaR (el 7) Far a2

Options:
1)75
2) 25

3) 50 _ __ —
— —_— — -
4100 [ e A S e e A o e T




Correct Answer: 100
Candidate Answer: 100

QID:50 -
The table given below shows the number of cars
manufactured (in lacs) by company X from year 2009 to
2018.

ar & o arfeesr # @ 2009 @ 2016 & @Huer X
T IcUTied Il T HEAT (Al H) Bl &N IR
&l

Year/ | Number of cars manufactured (in lacs) /
ag Sculfad anfsal fr geur (arEr 7)
2009 200
2010 110
2011 180
2012 220
2013 300
2014 250
2015 320
2016 300

In year 2016, the number of cars manufactured was more than that of which of the following year?

ay 2016 H Ieurfea mieat 1 T Fferaa 7 9 fr aef & aifdres ofi?

Options:
1) 2013

2) 2015
3)2014

4) None of these

T & i 7

Correct Answer: 2014
Candidate Answer: 2014

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select ‘No Error'.

As the country would lacking laws (1)/ and a regulatory framework to (2)/ steer the process. (3)/ No Error (4)
Options:

101

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 1

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

The PM, weakened by the loss of her (1)/ majority in June election, now (2)/ faces a battle against politicians. (3)/ No Error (4)
Options:

01

2)2

3)3

44

Correct Answer: 1

Candidate Answer: 3

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Had | reached earlier, |
Options:

1) will

2) can

3) ought

4) would

have caught the bus.




Correct Answer: would
Candidate Answer: would

QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Pallavi along with me to Goa.
Options:

1) had going

2) is going
3) were going

4) are going
Correct Answer: is going
Candidate Answer: is going

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Gospel
Options:

1) Theory

2) Hypothesis
3) Faith

4) Disbelief
Correct Answer: Faith
Candidate Answer: Disbelief

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Hoodwink
Options:
1) Cheat
2) Honest
3) Loyal

4) Permit
Correct Answer: Cheat
Candidate Answer: Cheat

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Imbecile
Options:
1) Brainy

2) Smart
3) Intelligent

4) Idiot
Correct Answer: Idiot
Candidate Answer: Idiot

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Outlandish

Options:

1) Alien

2) Awkward
3) Sensible
4) Boorish

Correct Answer: Sensible
Candidate Answer: Sensible

QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Impeccable

Options:

1) Pure

2) Clean

3) Sinless

4) Flawed
Correct Answer: Flawed
Candidate Answer: Flawed




QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Pinnacle

Options:

1) Apex

2) Base

3) Climax

4) Peak

Correct Answer: Base

Candidate Answer: Base

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
In a pickle

Options:

1) Experiencing a difficult situation

2) Earning money at the cost of other

3) Taking advantage of a favorable opportunity

4) Praising himself and others
Correct Answer: Experiencing a difficult situation
Candidate Answer: Experiencing a difficult situation

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Trump card
Options:
1) That gives someone an advantage

2) Fake identity
3) An unusual obstacle

4) An unforeseen liability
Correct Answer: That gives someone an advantage
Candidate Answer: That gives someone an advantage

QID : 63 - Improve the bracketed part of the sentence.

The photographer whose camera was used to take the photos (agree to donate) any future revenue from the images.
Options:
1) agreement to donate

2) agreeing to donate
3) agreed to donate

4) No improvement
Correct Answer: agreed to donate
Candidate Answer: agreed to donate

QID : 64 - Improve the bracketed part of the sentence.

Technologically, it was (one the) most advanced foundries in the world.
Options:
1) out of

2) one of the
3) between the

4) No improvement
Correct Answer: one of the
Candidate Answer: one of the

QID : 65 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.
One who cannot make mistake

Options:

1) Infallible

2) Reversible

3) Negligible

4) Eligible
Correct Answer: Infallible
Candidate Answer: Infallible




QID : 66 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Murder of infant
Options:

1) Germicide
2) Infanticide

3) Bactericide

4) Fungicide
Correct Answer: Infanticide
Candidate Answer: Infanticide

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Binoculor

2) Binocular
3) Byenocular

4) Binoculer
Correct Answer: Binocular
Candidate Answer: Binocular

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Ambiteous

2) Ambitieus
3) Ambittious

4) Ambitious
Correct Answer: Ambitious
Candidate Answer: Ambitious

QID : 69 - Rearrange the parts of the sentence in correct order.

Globalisation is the
P: of countries

Q: rapid integration
R: process of

Options:
1) PQR

2) RPQ
3) QPR

4) RQP
Correct Answer: RQP
Candidate Answer: RPQ

QID : 70 - Rearrange the parts of the sentence in correct order.

Producers need to

P: and regulations

Q: required safety rules
R: strictly follow the

Options:
1) PQR

2) RQP
3) RPQ

4) QRP
Correct Answer: RQP
Candidate Answer: RQP

QID : 71 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Childhood depression is not just a mood swing where a child can plainly snap of it.This disorder goes beyond the sadness of having a bad day and having to
cope with it. It's even worse than dealing ______ a deceased parent or of a friend when the child has to move.This involves the brain, and affects the way
the child feels, thinks, and acts. This disease is highly treatable if early on and the child can avoid school failure, thoughts of suicide and the like.

of it.

where a child can plainly snap




Options:
1) out
2)in

3) away
4) forward

Correct Answer: out
Candidate Answer: out

QID : 72 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Childhood depression is not just a mood swing where a child can plainly snap of it. This disorder goes beyond the sadness of having a bad day and having to
cope with it. It's even worse than dealing a deceased parent or of a friend when the child has to move.This involves the brain, and affects the way
the child feels, thinks, and acts. This disease is highly treatable if early on and the child can avoid school failure, thoughts of suicide and the like.

It's even worse than dealing a
Options:
1) up

2) with
3) off
4) on

Correct Answer: with
Candidate Answer: with

QID : 73 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Childhood depression is not just a mood swing where a child can plainly snap of it.This disorder goes beyond the sadness of having a bad day and having to
cope with it. It's even worse than dealing _____ a deceased parent or of a friend when the child has to move.This __ involves the brain, and affects the way
the child feels, thinks, and acts. This disease is highly treatable if early on and the child can avoid school failure, thoughts of suicide and the like.

deceased parent or of a friend
Options:

1) loss

2) slap
3) rebuke

4) fight
Correct Answer: loss
Candidate Answer: loss

QID : 74 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Childhood depression is not just a mood swing where a child can plainly snap of it. This disorder goes beyond the sadness of having a bad day and having to
cope with it. It's even worse than dealing a deceased parent or of a friend when the child has to move.This __ involves the brain, and affects the way
the child feels, thinks, and acts. This disease is highly treatable if early on and the child can avoid school failure, thoughts of suicide and the like.

This
Options:
1) disorder

involves the brain,

2) blessing
3) system

4) innovation
Correct Answer: disorder
Candidate Answer: disorder

QID : 75 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Childhood depression is not just a mood swing where a child can plainly snap of it.This disorder goes beyond the sadness of having a bad day and having to
cope with it. It's even worse than dealing a deceased parent or of a friend when the child has to move.This involves the brain, and affects the way
the child feels, thinks, and acts. This disease is highly treatable if early on and the child can avoid school failure, thoughts of suicide and the like.

highly treatable if
Options:
1) caught

early

2) detected
3) lost

4) created
Correct Answer: detected
Candidate Answer: detected




QID : 76 - Which one of the following is the most important aspects of closed economy?

el § & ¥ sidfarwen &1 Ue 99 Agayef uge 1 87
Options:

1) Import off

T &

2) Export off

fafa s

3) Both import-export off

smaa-frafa gFf a

4) No option is correct

1S off fared T T 81

Correct Answer: Both import-export off
smaa-frafa =i s

Candidate Answer: Both import-export off

smara-Fafa i 5g

QID : 77 - What is the full form of NSSO?

TAGEqESH (NSSO) T gof faar & 82

Options:

1) National Safety and Security Organisation
A AR U RegfRé smfrgsiem

2) National Statistical Survey Organisation
Ae Rieafena o smifrgetem

3) National Sample Survey Organisation

A St 9 SrfRSeE

4) No option is correct
HiE oft farea Tt i &1

Correct Answer: National Sample Survey Organisation

Aerer duet 99 SrfARSeE

Candidate Answer: National Statistical Survey Organisation

A RiZafeea ad smiAgei

QID : 78 - How many members of the Rajya Sabha are nominated by the President?

Ayafd ZRT IS & fohawt Tawdl i A o ST &2

Options:
1)6

2)9
3)12
415

Correct Answer: 12
Candidate Answer: 12

QID : 79 - Who of the following administers oath of the office and secrecy to the Lok Sabha Speaker?

frafafa d & & dienge & T (s1eger) ht ug SR My 6 eraer Reerar 82

Options:

1) Chief Justice of Supreme Court
ST T & T e

2) Vice President

IU g

3) President

4) Prime Minister
Correct Answer: President

Candidate Answer: [ NOT ANSWERED ]

QID : 80 - Which one of the following places of Indus Valley Civilization was known as the Oasis of Sindh?

e a1t ozran & Frafafea @ § § frg " [{¥e o Aeud” & & H ST SI1ar a1

Options:
1) Dholavira
SATeRT

2) Mohenjodaro
Higsiiast

3) Chanhudaro

4) Hérappa
el
Correct Answer: Mohenjodaro

Candidate Answer: Mohenjodaro




QID : 81 - "One Caste One Religion, One God for Man" is the teaching of

"Yeh STIfQ Uep o, A S g U dsR A g

Options:
1) Rajaram Mohan Roy
IR Hige 4
2) Sree Narayana Guru
AR TF
3) C. Kesavan
t. e
4) Mahatma Gandhi
HgTeHT el
Correct Answer: Sree Narayana Guru

ft aRIIUr T

Candidate Answer: Sree Narayana Guru

off ARR0T T

QID : 82 - Which one of the following landscapes is NOT formed by the volcanic activities?

el 3 & & < gayfi serearmdia fova grr Afda =di 82
Options:

1) Cone

qF

2) Dome

HEE)

%)_LECirque

4) Lava cave
ATqT T

Correct Answer: Cirque

Candidate Answer: Cirque

QID : 83 - In which state is the Kakrapar project located?

FHIAIIR URGTHT fhe wsa # [ 82
Options:
1) Maharashtra

HERTE
2) Rajasthan
SRYET

3) Gujarat
4) Kerala
e

Correct Answer: Gujarat
Candidate Answer: Gujarat

TR

QID : 84 - Which one of the following organelles in a cell is considered as a suicide bag?

fafaRaa A o9 a1 e sitres Sifvent 6 sersan i Seft gt St 82
Options:

1) Centrosome

2) Mesosomes

b:raicaioas )

3) Lysosomes

4) Chromosome
ShIFTTT
Correct Answer: Lysosomes

Candidate Answer: Lysosomes

QID : 85 - Husk (outer cover) of a coconut is made of which of the following tissues?

ARG T I T5eent R FnTifend Sdes @ 7 BT 22
Options:
1) Parenchyma tissue
Helh
2) Sclerenchyma tissue
Hdsh

3) Collenchyma
IATRTSAT

4) Xylem
g

Correct Answer: Sclerenchyma tissue

Candidate Answer: [ NOT ANSWERH .



QID : 86 - Which of the following disease is caused by viral infection?

Ty (areReT) SehAuT & Rl R § @ @ e g @2

Options:
1) Cholera
&e

2) Typhoid
ERTES)

3) Diphtheria
Ruefifar

4) Influenza

%

Correct Answer: Influenza
e

Candidate Answer: Influenza

SHIYST

QID : 87 - Which one of the following statement is correct about the value of acceleration due to gravity at the poles?

fr=fafRa & & & 91w gal R ey or Ie & hRUT 0= @Rl & forg Tgt 87

Options:

1) It will be more than at the Equator.
g AT @ R § 31fde ghm

2) It will be same as at the Equator.
Tg e T IR FAM gl

3) It will be less than at the Equator.
g A @ & foras 4 @ 9 g

4) It will be zero.

g 3 B

Correct Answer: It will be more than at the Equator.

g A @ R § 31fda ghm

Candidate Answer: It will be more than at the Equator.

g A @ WR § 31 ghm

Qip:88-
Whichamongthe followingis an incorrect pair?

fafafta # & Fia-a1 799 [el 761 &7

Physical Quantity St Unit
sfaF AT THHS AT
[. Length Metre
AR Hrex
[l. Mass Kilogram
GeIHAT [CEIEIE:]
[l. Time Hour
HAT HeT

Options:

1) Only |

had |

2) Only Il

Sl

3) Only 11l

et Il

4) Both ll and Il

[l e (1l gt

Correct Answer: Only Ill

et Il

Candidate Answer: Only Il

et Il

QID : 89 - In which of the following the length of word is measured in computer?

Fregex § ot areg oY evad Fafafea & & forod arua &2
Options:

1) Millimetre

fAefirflex

2) Centimeter

g%zl_zitre

4) Bit
e




Correct Answer: Bit

Candidate Answer: Bit

QID : 90 - When two liquids in a mixture differ by their boiling points, which of the following is the best method to separate these liquids?

forelt gF g fsyor & &9 wenef, S Faumies (Srafel urde) f92-fa g & &t Frafafa 3 @ ffg qugseor ugfd § gatam & & s R 511 gekar 82
Options:

1 ) Chromatography

2) Filtration
e (Fremem)
3) Evaporation
4) Distillation
I

Correct Answer: Distillation
ST

Candidate Answer: Distillation
SR

QID : 91 - Materials having the properties of both metals and non metals are called

3 ueref Sit arq SfR SreTg AT el U1/ At T §, FHgard gl
Options:

1) Alloys

fRsr g

2) Metalloids

3) NobIe metals

e fed

4) Mixtures

fRsror

Corl;ect Answer: Metalloids

2

Candidate Answer: Metalloids

&)

QID : 92 - Which one of the following is a threat to the environment?

fFrafafae 7 3 o wiww & fow @aw §?
Options:

1) Growing plant

Igd gy e

Zj Growing population
Tedl g8 SO

3) Growing crops
gl et

4j Growing flowers

qgd Gl

Correct Answer: Growing population
gl g8 sHHEn

Candidate Answer: Growing population
Tt g8 SHHEm

QID : 93 - Which one of the following is NOT a Maharatna public sector unit of India?

0 Q B Tt Y TR Y AgR FIdeii-eh &1 i 3hTs el 87
Options:
1) NTPC
il
2) CIL
ST
3) BEL
CiEC
4) BHEL
Ec

Correct Answer: BEL

Candidate Answer: BEL

QID : 94 - Who among the following scientists invented the Zip fastener?

S BReR @1 snfasrR F=fafea & g dwfaes 3 fmam?




Options:
1) W.I. Judson

Y, IS, ST
2) Thomas Edison
ATAg UfegH

3) A.L. Breguet

T.0el. STge

4) G.S. Ohm

Sitgg. ofF

Correct Answer: W.I. Judson
T, TS, BT

Candidate Answer: A.L. Breguet
Q.. g

QID : 95 - Of which international game event is "Citius, Altius, Fortius" the motto?

or Siaegia @t o enmeel-arey "difeuy, sifeeaw, wiféaw” &2

Options:

1) Football World Cup

Fedid A &Y

2) Cricket World Cup
g

3) Wimbledon

[EEREE

4) Olympics

CIcC

Correct Answer: Olympics
Siteften

Candidate Answer: Olympics
it

QID : 96 - Who of the following built the Jama Masjid of Delhi?

Reeht & s A 1 fAwior Fefefea & @ fram samar ar?

Options:
1) Qutubud-din Aibak
I QT

2) Akbar

Sha}

3) Jahangir

SRR

4) Shahjahan

AgSTET

Correct Answer: Shahjahan
RATESTET

Candidate Answer: Shahjahan
NIEEG)

QID : 97 - Grammy Award is given in which of the following field?

it R Fefefea & @ fora &= | e sirar 82
Options:

1) Music

|

2) Journalism

3) Environment
EIGICEYE

4) Medicine
<dar

Correct Answer: Music

Qandidate Answer: Music

QID : 98 - Who is the author of "Final Test: Exit Sachin Tendulkar"?

"TRTET 3¥2: Qfie WA dgea” & ARadh R §?
Options:

1) Sachin Tendulkar

gRa d

2) Dilip D’Souza
fect fege

3) Yuvraj Singh
gt o

4) Kapil Dev
Hfter 3

Correct Answer: Dilip D'Souza

et fesgm

Candidate Answer: Dilip D'Souza

fecefror g




QID : 99 - In which of the following years the United Nations officially came into existence?

SfireRes IR IR U TE 99 fohg av sifkae & smar ar?
Options:

1) 1942

2) 1944

3) 1945

4) 1947

Correct Answer: 1945

Candidate Answer: 1945

QID : 100 - Who was the first Prime Minister of Pakistan?

TIREaT & Ugd T T3t Rt 97

Options:
1) Muhammad Ali Jinnah

2) Liaquat Ali Khan

ferarera sreft @™

3) Ayub Khan

3gd @

4) Zulfikar Ali Bhutto
3t

Correct Answer: Liaquat Ali Khan
g =

Candidate Answer: Liaquat Ali Khan
ferareRd ereft @



